## BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd.) Office of the General Manager, Govindpur Area P.O. Sonardih, Dist. Dhanbad

Ref. No. GM/AR-III/ACE/Tender/ 40785-813

Dated 21.03.2009

23

## SHORT TENDER NOTICE

Sealed tenders are invited from registered and experienced contractors for the following works :-

SI. No.	Name of work	Estimated cost (in Rs.)	Earnest Money	Cost of tender paper	Time of completion
1.	Construction of attendance room, Manager room, cap lamp room & open shed near CISF check post of Block-IV.	2,48,111.22	1%	Rs.250/-	1 month

Eligibility Criteria:-1 (a) The average annual financial turnover during the last three years ending 31st March of the previous year should be atleast 30% of the estimated cost. (b) Experience of having successfully completed similar works during last 7 (seven) years ending last day or month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following. (C) (i) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.(ii) Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.(iii) One similar completed works each costing not less than the amount equal to 80% of the estimated cost. 2) J.S.T. Clearance certificate 3) Permanent Account number of Income Tax.

The tender will be received on dated 03.04.2009 upto 3.00 p.m. in two parts and will be opened on the same day upto 3.30 p.m. in the presence of tenders or their authorised agents.

Without earnest money tender will be rejected. The tenderers are required to deposit the E.M. in the shape of demand draft or M.R. of Govindpur Area.

The bill of quantity will have to obtained from office of the undersigned on production of M.R. upto 02.04.2009.

Authority is reserved to reject any or all the tenders without assigning any reason whatsoever.

It will be obligatory for the tenders to keep their offer for a period of 120 days from the date of opening of the tender.

Sale-Tax will be deducted as per rule from the bill of the Contractor. No conditional tender paper will be accepted.

No materials will be supplied to the contractor for doing this work.

The contractor will have to abide by all labour rules of the country/state.

A.K. Shivastara Area Civil Engineer, Govindpur Area

## C.C. to :-

- 1) Addl. GM, Govindpur Area.
- 2) AFM Govindpur Area.
- 3) All Project Officers, Govindpur Area.
- 4) C.G.M/G. M., Area 1 to 12, E.J. Area, W.J.Area, W.W.Z Ropeways.
- 5) G.M. (Const), Koylanagar, Dhanbad.
- 6) Notice Board
- 7) Builders Association of India, 16 LIG Housing Colony Dhanbad / Near Akashkinaree Weighbridge, P.O. Katrasgarh.
- 8) C.V.O, B.C.C.L, Koyla Bhawan.
- 9) General Manager (System), Koyla Bhawan, Dhanbad.

## Bill of Quantity for the work of "Construction of attendance room, Manager room, cap lamp room & open shed near CISF check post of Block-IV"

S1.	Particulars of the work	Unit of	Estimated	B.C.C.L	Amount
No.		Qnty.	Qnty. of	scheduled	(in Rs.)
			Work	- rates	
	Earth work in excavation in	$M^3$	23.76	153.90	3656.66
1	foundation as per specification				
	Sand course filling in foundation	$M^3$	6.70 M	213.30	1429.32
2	as per specification				
	Providing & laying PCC (1:2:4)	$M^3$	6.70	1843.00	12348.10
3	in foundation as per specification				
	R.C.C work in (1:2:4) as per				
	specification				
	a) Raft	$M^3$	10.39	1912.65	19872.43
	b) Pillar	$M^3$	0.877	2147.80	1883.62
	c) Band/ lintel	$M^3$	5.42	2120.65	11493.92
4	d) Chajja	$M^3$	0.84	-2120.65	, 1781.34
	Reinforcement for R.C.C work	Kg	1752.70	21.85	3829.49
5	as per specification				
	Centering and shuttering				
	including removing the same				
	a) Raft foundation	$M^2$	46.80	61.10	2859.48
	b) Pillar	$M^2$	11.70	_ 135.80	1588.86
	c) Band/ lintel	$M^2$	60.09	87.95	5284.91
	d) Chajja	$M^2$	10.46	- 111.20	1163.15
6	e) edge of	M►	23.28	29.90	696.07

20 (Ester)

A.K. Sainashwa 21.3.09

7	Brick work in cm (1:6) in s/s as per specification	M <sup>3</sup>	29.95	1462.94	43815.05
8	40mm thick p.s flooring (1:2:4) as per specification	M <sup>2</sup>	64.56	113.70	7390.47
9	Providing C.G.I sheet roofing as per specification	$M^2$	90.44	279.55	25282.50
10	Providing & fixing wind tie as per specification	М	77.52	3 <b>6</b> ,10	3031.03
11	Providing M.S. angle iron for roof from as per specification.	Kg	550.00	21.95	12072.50
12	Steel work for door & wind with welded as per specification	Kg	470.00	24.30	11421.00
13	S/A two coats ready mixed paints as per specification	M <sup>2</sup>	42.97	24.25	1042.02
14	12mm thick c.p. (1:6) as per specification	M <sup>2</sup>	320.46	44.00	14100.24
15	12mm thick c.p. (1:4) as per specification	$M^2$	26.22	62.10	1628.26
16	Brick work in cm (1:6) in foundation as per specification	$M^3$	10.60	1256.54	13319.32
	Earth work in filling in foundation & plinth as per	$M^3$	18.00	30.25	544.50
17	specification	- 1			indental avvia e tantar i
18	Earth work in rough excavation in foundation.	M <sup>3</sup>	90.00	91.50	8235.00
19	Labour charge for fixing & fitting a) Door b) Window	No. No.	3.00	232.50	697.50 1132.00

Company (Company)

A-K Snivarana

20	White washing 3 coat as per specification	$M^2$	207.40	4.65	964.41
21	Colour washing 3 coat as per specification	M <sup>2</sup>	113.06	6.30	712.27
22	6 mm thick c.p. (1:4) as per specification	$M^2$	10.47	40.00	418.80

Note: Add \_\_\_\_\_% above/below from the estimated Cost.

Area Civil Engineer Govindpur Area

Signature of the Contractor